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Real Exam Questions:1.]2018 L atest 200-150 Exam Dumps (PDF & VCE) 158Q&As
Download: https://www.braindump2go.com/200-150.html 2.[2018 L atest 200-150 Exam Questions & Answers
Download:https.//drive.google.com/drive/folders/OB75b5xY Lj SSNV mxoUEhTTmZZM X c?usp=sharingQUESTION 129Which two
IPv6Answer: BD
QUESTION 130Refer to the exhibit. Y ou are configuring an extended access list to permit areply from Destination Server B to

naming formats are used to identify an iSCSI node? (Choosetwo.)A. MACB. EUIC. EHAD.

Source Host A for HTTP traffic.

Which extended access list should you implement on the inbound interface of Router1?A.
209.165.200.230 host 209.165.202.130 eq wwwB.
router(config)# permit tcp host 209.165.202.130 host 209.165.200.230 eq wwwD.

C.
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Server B

ONE.

router(config)# permit tcp host

router(config)# permit tcp host
router(config)# permit tcp host 209.165.200.230 eq www host 209.165.202.130

209.165.202.130 eq www host 209.165.200.230Answer : AQUESTION 131Which two options are block-based storage protocol s?

(Choosetwo.)A. NFSB.

iSCSIC. NASD. FCoEE. CIFSAnswer: BDQUESTION 132Drag and Drop QuestionDrag and

drop the zoning type on the left to the correct description on the right{' hard zoning } | name servar-assisted zoning
i port-based roning ; I ; ) _:-Mmu-onfor:n:miu_
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QUESTION 133Which description of the AAA accounting feature is true?A.

switch.B.
accessing aswitch.D.

It maintains alog of

every management session used to access a switch.C.

It regulates which options a user can access on a
It verifies the identity of auser whois
It assembles a set of attributes that describe what a user is authorized to perform.Answer: BQUESTION 134

Drag and Drop QuestionDrag and drop the feature on the left to the correct description on the right.r syslog | mmmmmm-:::
r R | ﬂllpm:lssof“rll‘\fln]uuk:
e ing the r .
Provides a method to collect :
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Answer:
syslog RBAC
authentication
TACACS+ accounting
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QUESTION 135Refer to the exhibit. Which description of the output iStrue?[switent show flogi database

e POKT HAME HODE HAME
fe1/2 Ox6101.3 -,:”:u’-oo“ $:af:03:36:27 20:00:00:04:af:03:36:;
TYAT T4V " e = e ol - ¥ A = - o i S
syl Wl Speioai) (5 dap b ol I (P b6 9a, o) lo)epfon &) Pl e
fol/2 Ox6101led 21:00:00:04:ef:03:3e:24 >or:00:00:04:0f:03:I0:3
fo1/2z OxG6101a8 21:00:00:04:cf:03:30:4b 20:00:00:04:0f:103:30:4

Total number of flogi = 4

A. four WWNNs and four WWPNsB. one WWNN and four WWPNsC. one WWNN and one WWPND. four WWNNs and
one WWPNAnswer: AQUESTION 136Which statement is true regarding FIP in FCoE enabled Storage Area Networks?A. It
reduces the number of network interface cards required to connect to disparate storage and IP networks.B. It uses a dedicated
EtherType of OXFFFF.C. It reduces the number of tables and switches.D. It isused to perform device discovery, initialization.
and link maintenance.Answer: DQUESTION 137Refer to the exhibit. Regarding the OSI networking model and the updated TCP/IP
networking model, which statement about this scenario is true?

Model A Model B

A. Model A isTCP/IP, Model B isOSlI, Layer Cis Transport, Layer D isInternet, and Layer E isPhysical.B. Model A isOSl,
Model B isTCP/IP, Layer Cis Session, Layer D is Network, and Layer E isPhysica.C. Model A isOSI, Model B is TCP/IP,
Layer CisTransport, Layer D is DataLink, and Layer E isPhysical.D. Model A isTCP/IP, Model B isOSI, Layer C is Transport,
Layer D isInternet, and Layer E is Network Access.Answer: CQUESTION 1380n a Cisco Nexus switch, you need to configure an
ACL that permits HTTP traffic only from network 10.68.68.0/24 to network 10.68.69.0/24.Which command should you use?A.
switch(config)# ip access-list testswitch(config-acl)# permit tcp 10.68.68.0 255.255.255.0 10.68.69.0 255.255.255.0 any eq 80 B.
switch(config)# ip access-list testswitch(config-acl)# permit tcp 10.68.68.0/24 10.68.69.0/24 eq 80C.  switch(config)# ip
access-list testswitch(config-acl)# permit tcp 10.69.69.0.0.0.0.255 10.68.68.0.0.0.0.255 eq 80D.  switch(config)# ip access-list test
switch(config-acl)# permit tcp 10.68.68.0/24 10.69.69.0/24 any eq 80switch(config-acl)# permit ip any anyAnswer: BQUESTION
139Which statement accurately describes the Single Initiator Single Target zone model?A.  Oneinitiator HBA card connects to one
disk controller.B. Oneinitiator HBA port connects to one disk controller.C. One initiator node connects to one SAN fabric.D.
Oneinitiator node connects to one SaAN array.Answer: AQUESTION 140When using HSRP or VRRP, what are the two states of
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the router interfaces that are ready to take over forwarding for the link, if necessary? (Choose two.)A. backupB. floatingC.
standbyD. masterE. idleAnswer: ACQUESTION 141When you enter the feature npv command on a storage-capable switch
from Cisco, what isthe result?A.  N-Port Virtualization is enabled without rebooting.B.  The switch reloads and erases the current
configuration before it enables the feature N-Port ID Virtualization.C. The switch reloads and erases the current configuration
before it enables the feature N-Port Virtualization.D. N-Port ID Virtualization is enabled without rebooting.Answer: C
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